
Exam SØK3521 May 2024 

All questions are worth the same marks. Answer all 3 questions. 

Question 1 Peer Effects 

(a) What are peer effects in education and what are the difficulties in estimating peer 

effects? 

Consider the following linear-in-means model 

 

𝑌𝑖𝑗𝑡 = 𝛽𝑌̅−𝑖,𝑗𝑡−1 + 𝛾𝑿𝑖𝑗𝑡 + 𝜀𝑖𝑗𝑡  (2) 

Where Y is a measure of educational attainment, X is a vector of controls and Y̅−i,jt is the average 

educational attainment of the ith student’s peer group (j) at the end of the previous time period (t-

1). 

(𝑏) 𝛽 provides an estimate of the peer effect. How would we interpret an estimate of 0.12? 

(𝑐) Why might it matter for policy if these peer effects are linear or not? 

Question 2 Returns to Education 

Consider the following mincerian wage equation 

ln(𝑤𝑖) = 𝛽0 + 𝛽1𝑦𝑜𝑠𝑖 + 𝛽2𝑒𝑥𝑝𝑖+𝛽3𝑒𝑥𝑝𝑖
2 + 𝜀𝑖  (1) 

This states that (log) wages (w) of individual i are a function of years of schooling, labour market 

experience (exp) and the labour market experience squared (𝑒𝑥𝑝2 ). While 𝜀 is an error term : 

a. If you estimated (1) on representative labour force data, what sign (positive, negative or 

zero) would you expect 𝛽1 , 𝛽2 and 𝛽3 to take? In answering this explain why. 

 

b. How do ability differences across individuals lead to differences in levels of schooling? What 

implications does this have for interpreting the results from estimating (1). 

 

Question 3  Educational Production 

a. How can education production functions be used to explain individual educational 

attainment?  

 

b. Appendix A reports individual country differences in attainment from an international 

average. These differences are decomposed into unaccounted and accounted for 

differences in terms of inputs into an educational production function.  

 

What is the interpretation of these two sources of differences? Why might this be 

important for educational policy? Use specific country examples to discuss this point.  

 

 

 

 



Appendix A. 

 

Excerpt from Woessmann (2016) 

 


